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And an ox pays for damages only — P71 KON 25Wn 198 N

OVERVIEW

X217 rules in a case where one hit someone and damaged his hand, but it can be
healed that the P12 only pays for his inability to work during his rehabilitation
(naw), but does not pay for his decrease in value (1) if he were to be sold as a
slave. The X n3 comments that if the damage was done by an animal, there would
be no payment at all, since an animal pays only for P11 but not for naw.

= 195N DIV HNIY IN 991WN NN VY DI V)
There are those who want to exempt, one who rents or borrows a horse from

his friend, from paying for any damage sustained by the horse -
- INDANAY MIAY 19YDT 113 INANINN NN HVAN MY WA PN 199N

Even if the horse was injured through negligence and was not able to work for
a long time, since eventually the horse will be healed; their reasoning is -

- NP MY X9 YA WIN 1PVUHTT 2391 04
For just as we expound the 105 of 1n%»pa WK (a man to his friend), but not ="

WN9%YA regarding 2w that the 7w H¥2 in only 217 for P11 if he injured a person -
= 91V YIN ND) 119982 WIN 199W9T 923 95N

We also expound yon»y2 @R (is 0727 72 2°17), but not =2 wOK; if a person
damages a MW there is no 21’11 of @727 '7 -

- 5N DINY DYV 12 *PYNY PN
And we cannot differentiate between guardians (who are perhaps 0°727 72 2°n)

and a person who damages (who is not 27n) —
= N MY PINT DTN 919 HNIVNY DIN MY 315'\1 (3,797 NP X221 TX99

Since the X ) asks in P''2 noon; ‘but a n''w and a borrower, etc. are all cases of
a person who damaged an ox’ —

" The P09 in 1,73 (MINX) RIP™ reads 9wy 12 WY WK INMYA O 100 D WoRY, the X3 in X,12 "2 expounds on this
109 to teach us that only 1°»y2 WK is @727 '72 21 but not 1Ny NW.

2 moon is responding to an anticipated question; perhaps the 7w17T of MWwa WX X9, applies only when a person
actually damages the animal (in this case he is 2°727 "7n 7o) however if a "W was negligent in watching the 1w
and it was hurt, perhaps that is a different case and he would be 0°727 '72 271, so MdOIN rejects this idea.

? A marginal note amends this to read 9w R (instead of 9w 1M). The X3 there was trying to explain why "
Xy X did or did not include certain cases in his counting of the 1°7°11 N12X, saying that once a category is mentioned,
he does not see fit to repeat another P12 which is in the same category. The & 3 asked on this, but XyTIX
mentioned an MW P°1a7 078, and nevertheless he also mentions 21 "W, which is also a case of MW P 1XT O7X. It is
evident from this question that the & 13 does not differentiate between p*1571 07X and the 0w, so therefore just as
MW PTAN QTR is @727 7R Mwd, the same should apply to the 2w and therefore they would (seemingly) be 7199 in a
case where the animal was incapacitated, but is expected to fully recover.
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mooIn replies to an anticipated question:
- 25511513 N9 5123 991 ©IANA NYININ (3,19 pr1mID) PPININ YW 99997 XM

And this which the X773 asks in the beginning of P pami 279, ‘if he weakened

the animal by loading it with stones, is it indeed so that he will be liable’?!
- "N NDT UNONA 1N

There we are discussing a weakening that will not go back; the animal will be
permanently weakened —

mooin offers a differing view:
= P HH9 "N R INAYWT DTN NIN NAY 7Y XYY 99N or5n 19927

And the n''9 says that the concept of an independent naw is not applicable, only

by a person, for his naw is not included in the P71 payment -
- 79595 19127 5nNa XY NV DIUNT

Since the monetary value of a person does not decrease that much on account

of naw -
- 81’)3‘1 MPNAT NI P 5553 1NAYT XLV MY YaN

However by an ox it is obvious that his naw payment is part of his 11 payment,

because his value decreases on account of his naw -
9919 9ﬂ’ﬂ1hﬁ 12927 9922 N IV PHAVYD nriatie)

And initially when he was injured we assess the ox how much has his selling
price decreased.

SUMMARY

* The P10D in R3,70 (7MAK) XIPM states DAY DTR 7971 7IMPW 7naa 79m). The Xma there derives from another (7°) P05,
72 wo1 7om that the 211 is only when there is a 771217 (there was blood letting). The X773 there asks does that mean
that if he made the animal weaker by loading it with heavy stones but there was no blood that he is 75. This cannot
be! It appears from that X773 that one is 211 for damaging a 7772 not as the X117 ¥ maintain.

° By a X177 X7 mwnon all agree that the °ma is 2, because that is pri; the 0¥ w° wanted to exempt the 9w from
paying by a 7717 7wnoi so there is no P11, only N2w, and one is seemingly 705 for N2w by an animal.

® This follows the text of the WX N0 who writes 179 11" (which is > 11°27).

7 When we assess the value of a person (how much it would cost to buy him as a slave) that fact that he cannot work
a week or so, will hardly diminish his price, because when you purchase a person, you are buying someone with
intelligence whose value cannot be measured solely on how much physical labor he can do. Therefore in order to
compensate for his N2¥ we need to assess it separately. However when a 7MW incapacitates a person temporarily
there is no 11 (according to X27) and a MW is 7wd from paying Naw.

8 An ox is only used for work, if he cannot work (even for a short time) his value is diminished, therefore it is not
(merely) naw, rather his inability to work is considered {271 and one is 271 for the p1ii to a Mw.

? When an ox is injured by a P> we determine the amount to be paid by assessing the value of the ox before he was
injured and the value immediately after he was injured; the lower current value certainly includes his inability to
work for whatever period it takes him to recover, this is therefore included in 1. See the commentaries for various
explanations of s'T"7 view.
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There is a dispute whether the financial loss of the time a recuperating animal
cannot work is considered naw (and therefore [even] a "MW who was negligent will
be Mw»d), or is it part of P11 (and the 1w will be 271).

THINKING IT OVER

Moo contends that an MW P°187 QX 1s MWD from N2AW, because just as we expound
NPAYA MW R NV WX, we also expound WA WK K91 nva wok. Why did not
mBoIN cite an explicit XM in 2,7 P"2, which states that an X7 11 MW P IRT DX
n5>wnT (but not o127 '7)."°

10 See w"wn.
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